Day 1 - Arithmetic

1 3x6x0x8=

1 mark

2 34,805 - 56.07 =

1 mark

3 | 108,000+ 120 =

1 mark




4 | 30%x2,300 =
1 mark
5 |
1 3[270 5 4
Show
your
method
2 marks
6 | 80,000-1,600=

1 mark




Day 2 - Arithmetic

1 50% of % =

1 mark

2 | 40,000 x 500 =

1 mark

3 = 1-0.089

1 mark
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1 mark

85% of 480 =

1 mark

7,609 x 44 =

1 mark




Day 3 - Arithmetic

£
5

1 x£=
3

1 mark

2 | 209x777 =

1 mark

3 | 8,648 +7,947 =

1 mark




9,924 -6 =

1 mark

9x 3—

1 mark

Ao

x 130 =

1 mark




Day 4 - Arithmetic

1 ﬂ _1_ =
3 3
1 mark
2 | & _o065=
5
1 mark

3| 12-7.06=

1 mark




24 x 24 =

1 mark

1 mark

2x3x4x5=

1 mark




Day 5 - Arithmetic

1 5x5x5x5=

1 mark

1 mark

3 | 43.1-8.89=

1 mark




— of 270 =

1 mark

308,578 - 19,089 =

1 mark
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1 mark




Day 6 - Arithmetic

1 069+2=

1 mark

2 | 33443 +5%=

1 mark

1 mark




261,967 - 53,782 =

1 mark

3,036 + 11 =

1 mark

o=
o=

1 mark




Day 7 - Arithmetic

1 | (35x9)+(15x9)=

1 mark

2 | 9,000,800 - 7,999,990 =

1 mark

Show
your
method

2 marks




4 | 28-5x3=

1 mark

5 | 35% x 440 =

1 mark

43[162097

Show
your
method

2 marks




Day 8 - Arithmetic

1 0.077 + 2 =

1 mark

2 | 99% of 356 =

1 mark

31[7 37 8

Show
your
method

2 marks




4 5
—_—— =
5 15
1 mark
£+2=
7
1 mark
1 1
2— $=— =
2 3

1 mark




Day 9 - Arithmetic

1 345x5x4 =

1 mark

2 | 3-7x9=

1 mark

3 = 1,320 + 11

1 mark




4 | 90% of 2,000 =
1 mark
5 |
32[67 92
Show
your
method
2 marks
3 3
_—t — =
6 4

1 mark




Day 10 - Arithmetic

1 -19+ 3,078 =

1 mark

2 | 3x72+7x72=

1 mark

3 | 145x7

1 mark




4 1 _
6 73
1 mark
2,598 x 75 =
1 mark
20.1 + 1000 =
1 mark




